A & ol & AF &2 F A A
20208 = 20& BBHSAL S
o200 M2
B 210 FATALSLY
211 ALY (£ @ e )
T.o@-g-2 Ol & 24 & 1 & 0f ko HIDZ 2t
z o 5,225,263 4,784,351 440,912
200 AI2l 42 3,775,263 4,184,351 £409,088
210 ZAE ML 3.763,232 4,173,280 £410,048
211 THAH I CH 4 ) 81,032 107,080 726,048
211-02 ZRMMLHE 81,032 107,080 £26,048
< NEREIMEL > 81,032 107,080 726,048
ITHSAE 202 81,032
15 22 WE 16,290, 000%! 16,290
2% I 2 Of 21,010,0002 21,010
2T dols 3,200,0002 3,200
~HHYAE B 16.738,000%! 16.738
SAHEAE HNEEE 6,330, 0002 6,330
~HHUANY ARXSEE 17.464,560%! 17,464
212 AEEB4Y 3,667,200 4,051,200 384,000
212-08 JIEFAIR 2 3,667,200 4,051,200 384,000
< ANEBRAYA > 3,667,200 4,051,200 384,000
OZBZTHSANE NSE 3,667,200
-2 HSUE 230,000, 0002 * 122 2,760,000
e 23,000,000 * 128 276,000
~ROHSHE SEEIY 2,000,000 +12% 24,000
A YA 50,000,000 * 128 600,000
A WA REFUE 600,000 * 128 7,200
216 Ol Xt4+2! 15,000 15,000 0
216-01 BB 301+ 15,000 15,000 0
< ANEBRAAYL > 15,000 15,000 0
OBZ0I2 0K+ 15,000, 0002 15,000
220 2 AIE 24 e 12,031 11,071 960
224 Bt 11,360 10,400 960
224-06 19|+ 11,360 10,400 960
< NERRIAMEL > 11,360 10,400 960
ORVHSUE LHHE ZB23 250,000 * 128 3,000
OMY Yo AUHE 223 530,0002 128 6.360
ODIDZDE 4+ 600,000 600
OBQISIE HQIE 49 1,400,0002 1,400
225 NHEE 4 671 671 0
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225-01 At &= ==¢ 671 671 0

< AlEzelmga > 671 671 0
OXHHE =g 671,000& 671

00 B3 300,000 0 300,000

510 = 082 X=S 300,000 0 300,000

511 =08 x38 300,000 0 300,000

511-02 2t e d 300,000 0 300,000

< A&z Ag A > 300,000 0 300,000
OHENESE 300,000,000& 300,000

00 2EMLSHUHEAN 1,150,000 600,000 550,000

710 B8+ S 1,150,000 600,000 550,000

711 4= 1,150,000 600,000 550,000

711-01 =MAHLAHS 1,150,000 600,000 550,000

< AldzeAag s > 1,150,000 600,000 550,000
Oz=MALAHS 1,150,000, 000& 1,150,000




